oh2 ZEP Y 9o £ 3 A(3,6), B(10,12) Ato]o] AgE ot
sgolct. [ ] etel gure 45 Fatefet.

yl\
T B(10,12)
o~ "AG.6) :C
i .
1 | -
ol 3 10 T

(% A A, B Ato]e] A2])= AB
AB° =AC +BC
= (10-3)*+ (12-6)?

=49+ 36
=85

(A A, BArelo] A7)=AB
AB® =AC" +BC’
= (10-3)> + (12 - 6)?
=49+ 36 =85




(A =90° o] B2
102 = x2 + 42, x=2+21

A APAOz%XQ‘/ﬁXZl:Zl‘/ﬁo]E]’-




t}e 783} Zro] gt ¥ o] o7} 53 em ¢l _--5/3cm. _

A1ZHY ABCD <holl §5<1 479 Mzt AR P
Ztgo] k. AE = V5em ¥ W], oEFGH
] o] Fajolet Ve
F
G

B C
> 'F:.* . sz
> ®E: 75-10VIdcm?

LB ~
AE =HD
AH = /(5V3)2 - (V5)2 = V70(cm)
EH=AH-AE= V70- V5
OEFGH = (V70 — V5)? = (75 - 10 V14) (cm?)




4. oL AAAA A OA @ ZHo] M o] OA = 6em € 1], AMBC
o] GYo|& 5tH?

@D 6v2cm? @ 7+2cm? 3 8V2cm?
@9 V2em? ® 10V2cm?

~3em”

MB = MC = 3 V3(cm)

A M oA BC o W& =42 &5 H 2t 6tH
MH = /(3V3)2-32= v27-9 = V18 = 3V2(cm)

(aMBC9] Ho]) = % X 6 X 3V2 = 9v2(cm?)




5. o 28 9O oA x ety o 22

® x=4,y=280° @ x=8,y=80°
(@)x=4,y:60° @x=6,y=60°
® x=8,y=60°

20:40=x:8, x=4
8:12=40:y, y=060




AABC 9] Ho] §, = ‘{Tgxm? =253

AABP 9] Ho] §, = 10xPQ x % =5PQ

—— 1 -
AAPC 9] ¥lo] S3 = 10xPR x 3 =5PR

S1=2S5+S3°|2& 253 = 5PQ+5PR
.. PQ+PR =53







8. A% x, kol distel, k-1 < VE < k+ 1 TESFE £ 9] 47} 47
M7} =2 o k o] S Fokolah,

> E:

> Hehl k=12

S5 ~
k—1< vx<k+1A Zt HE AFotH

(k=12 <x<(k+1)?,x, k7t BF AJgo|lBn2
(k+1)2-(k-1)2-1=47

K24+2%+1-k>+2k—1-1=47

4k = 48

k=12




A x, yoll st »? +y? = 28 W55k (x, y) 7170 W, x4y
o] & szt

> E:

> e 12

. ~
x+y=keotHy=—-x+k
OJAE x% 4+ y% =2 o tdstH
2+ (-x+k)?2=2
2x2 —2%kx+k*-2=0

k2 -2

2

I (x, y)7F 17|22 D = 014

2 _
(5 -

kK2—2k*+4=0
k> =4
Ck=x+y=+2

X2 —kx + =0




